Economics 102


Spring 2004

Solutions to practice questions #5

Multiple Choices
1.
B. 

Say’s Law implies that S+T=I+G but does not imply S=I or T=G

2.
D. 

A and C are wrong statements. B is a correct statement from what we covered in class. Yet is not an IMPLICATION of the vertical government demand curve. Just by referring to the vertical government demand curve we cannot deduce whether private demand for funds has an impact on government demand or not.

3.   Question deleted from file:  poor question

4.
A. 

When MPC increases, the multiplier 1/(1-MPC) increases as well. For the same change in private investment, a larger multiplier will result in a larger increase in equilibrium GDP.

5. 
C


Be very clear that the idea of complete crowding out in classical model implies precisely that any change in GOVERNMENT DEFICIT will be counteracted by a change in BOTH INVESTMENT AND SAVING to keep the TOTAL SPENDING unchanged. It does not imply that government deficit has no effect in other aspects of the economy. (Note: we always assume this crowding out effect exists, but the crowding out is “complete” only in the classical school of thoughts. Keynesian ideas in future lectures will consider “incomplete” crowding out)

6.    C


This is a question on causation: the money supply is determined by the fed, while GDP is determined by how hard we work in production. In this equation M and Y do not affect each other. Money supply does affect price level , but not the other way around. In mathematical terms, M and Y are independent variables in this equation, where P is the dependent variable.

Problems
1)
a), b), d-i), d-ii) Aggregate demand and equilibrium level of funds

	(A)
	(B)
	(C)
	(E)
	(F)
	(G)

	Interest rate
	Supply
	Private demand
	Aggregate demand when (G-T)=$1000
	Aggregate demand when (G-T)=$1400
	Aggregate demand when (G-T)=$600

	1%
	1400
	2000
	3000
	3400
	2600

	2%
	1600
	1800
	2800
	3200
	2400

	3%
	1800
	1600
	2600
	3000
	2200

	4%
	2000
	1400
	2400
	2800
	2000

	5%
	2200
	1200
	2200
	2600
	1800

	6%
	2400
	1000
	2000
	2400
	1600

	7%
	2600
	800
	1800
	2200
	1400

	8%
	2800
	600
	1600
	2000
	1200


 c) 





   e i )
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e  ii)
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f) Government has an independent set of considerations (social welfare) on the desired level of funds. Also taxation is a mandatory acquisition of funds from the public with no obligation to repay. Thus government’s decision on level of deficit is not affected by interest rate.

2)

a) By M=kPY, 1000 = (0.1) x P x 500. P=20.

b) If M becomes $1200, 1200 = (0.1) x P x 500. P=24

c) Inflation = 

	(24-20)
	X 100%
	= 20%

	20
	
	


3)
a) and c) 



b)

	Labor supply
	Shifts the curve to the
	Labor demand
	Shifts the curve to the

	baby boom


	
	Right
	Technological advancement
	
	Right

	Buddhism


	Left
	
	downsizing
	Left
	


Remember only factors OTHER THAN THE WAGE can shift the labor demand or supply curves. The supply side factors are a bit strange because they must be factors that change people’s willingness to work even when the wage doesn’t change.

d)
 Solving old labor supply curve with new labor demand curve:



LD = 65-2w



LS = w-10

The equilibrium wage is $25 and employment is 15.

e) 
Suppliers will supply 8 units of labor at a wage of $18 while demanders will demand 8 units of labor at a wage of $21.

f)
Suppliers will supply 14 units of labor at a wage of $24 while demanders will demand 14 units of labor at a wage of $18.

g)
Producers will always want to offer the lowest wage that workers will accept. Therefore the actual wage workers are employed at is always the wage on the supply curve (unless there exist some sort of labor union that effectively negotiates with producers).

h)
When there is overemployment producers will tend to offer lower wages and not keep those workers who ask for a high wage, until the wage producers are willing to offer at the margin equals the wage workers are willing to accept. The economy will return to full employment at this point.

4)

a)
Expenditure multiplier = 1 / (1-MPC) = 5

b)

Y = a+bY+I+G+NX


 (1-0.8)Y = 10 +100+60+50


        0.2Y=    220



 Y= 1100

c)

By the fact that the multiplier is 5, a $20 increase in private investment will result in a $20 x 5 = $100 increase in Y. New GDP Y=1200.

d)

A 20% increase in government expenditure equals $12. With a multiplier of 5 the total increase in GDP will be $60. New GDP Y=1160.
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